HAR TS 3 318 TSI

(Arithmetic Progression & geomet
Progression)
Ch-4




ENEX
Page # 89 n SRATF 5 7S AR f4efy =

5(11) 3+ 3343334 i
ST, n TP AT TG TN

s =3+33+333+

=3(1+11+ 111

SR RS CE N

== (94994999 + coern )

== {(10 = 1) + (100 — 1) + (1000 = 1) + oo e e e
== {(10+ 100+ 1000 + - ...... .. )+ (1+1+1




(10" -1)

1
"3 (10 o1 M
1 (10" -1)

=3 {10 5 n}

_10 n _1\_n1
= (10 1) 3 Ans.




n RATF 9 4G A 47 Fa:
Page # 124

10 (iv 1+3+7+ 15+

ﬂisa=1+3+7+15+ .................................
9w s = 1+3+7+15+

O=1+2+4+8+ i,

f =12+ 4+ 8+ o,

n
2 -1
=1
2-1

=2"-1




n=1°5SN "% =21 -1
n=2,3% m=2"-1
n:3,\9-§- ‘DIW=23_1

—1
Sy = (21+22+23+ ......... ) -1 (1+1+1+-
-1
2
2.2M =2
= —n
1

=21 _ 9 _n Ans.




